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HS 777 1 2 3 4 SR | BN ER| BN
1 N RT 3-0 2-1 2-1 3-0 1
2 K.T.C 0-3 0-3 2-1 1-2 3
3 F—LALT VILN— 1-2 3-0 2-1 2-1 2
4 BIGOT a 1-2 1-2 1-2 0-3 4
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HS 777 1 2 3 BB | EIS | B
1 BLITZB 1-2 1-2 0-2 3
2 RET=ZRI 77 2-1 3-0 2-0 1
3 BIGOT b 2-1 0-3 1-1 2
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) 777 1 2 3 SR | EIS | BAL
1 F—LaLT =LK 2-1 | 3-0 | 2-0 1
2 nobu 1-2 3-0 1-1 2
3 JY—=>THhHTI— 0-3 0-3 0-2 3
D7mavy o
B5S 777 1 2 3 4 | BsRg | BSE| B
1 NE D 1-2 3-0 2-1 2-1 0.66 1
2 U RILER 2-1 2-1 1-2 2-1 0.55 3
3 T 0-3 1-2 1-2 0-3 4
4 BLITZ A 1-2 2-1 2-1 2-1 0.55 2
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